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Practice Problems

3.1 Picturing Motion
pages 44-46
No practice problems.

3.2 Where and When?
pages 47-51

No practice problems.
19. A student drops a ball from a window

3.3 \Velocity and Acceleration 3.5 m above the sidewalk. The ball
pages 53-59 accelerates at 9.80 m/s?. How fast is it

moving when it hits the sidewalk?

No practice problems.
dy=35m d;=0
?

- Vo = 0 v, =
Chapter Review Problems ¢ d
a=-9.80 m/s?
page 61 .
+ Begin
Create pictorial and physical models for the . T ‘9 do
following problems. I
L 4
Section 3.3
Level 1 _ Y
17. A bike travels at a constant speed of a 1 v‘
4.0 m/s for 5 s. How far does it go?
vy = 4.0 m/s vy = 4.0 m/s i
v
dy=0m d =7 @ End
f0=08 r1=55 = O+ d;
) Level 2
Begin End
FD &F 20. A bike first accelerates from 0.0 m/s to
3 5.0 m/s in 4.5 s, then continues at this
ov vy ¥ ¥ ¥ 1 constant speed for another 4.5 s. What is
e e the total distance traveled by the bike?
a=0
t,=0 {,=45s L=45s+45s
18. A bike accelerates from 0.0 m/s to =9.0s
4.0 m/s in 4 s. What distance does it v, =00 v,=50mfs v,=50m/s
travel? dy,=0 dy,=?
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S Niddls o R 23, I you-_'tﬁrdw ‘the ball in problem 22 up
é'?_‘ﬁ instead of down, how fast is it moving
@'—)@ % when it hits the sidewalk? Hint: Its

. a, 2 d d accelerauon s ‘the same whether it is
- 0 1 2
i moving up or down.
v vV v ¥ "
¢ v * b do-—2.5m . d1=0m
a0 =0 Vp=20m/s vy =7?
21. A car is raveling 20 m/s when the driver : xR | = -9.80 m/s2
sees a child standing in the road. He _ B
takes 0.8 s to react, then steps on the SN
brakes and slows at 7.0 m/s?. How far v] VI
does the car go before it stops? "I + I Begin
kL
8g1 =0 ay, = -7.0 m/s? "I %
Vp=20m/s v,=20m/s v,=0
v
t,=0 t,=08s t2=?
d, =
2 a Jr i
Begin Middle End
do d] dz v
v v v v ¥ ] End
O b b o—> o o s ml 1 : d-‘
ay =0 ay5=—7.0 m/s? :
Y 22. You throw a ball downward from a Critical Thinking Problems
j window at a speed of 2.0 m/s. The ball Each of the following problems involves two objects.

accelerates at 9.80 m/s®. How fast is it

) Draw the pictorial and physical models for each.
moving when it hits the sidewalk 2.5 m

Use different symbols to represent the position,

below? velocity, and acceleration of each object. Do not
d;=25m d;=0m solve the problem.
Vo =-2.0 m/s vy =7? 24. A caris traveling 25 m/s to the east, while
a=-9.80 m/s2 a truck, initially 625 m away, is moving at
Beai 20 mys to the west along the same road.
+ egin
1 ‘\If. dy Where do they meet?

Begin

Copyright @ by Glencoe/McGraw-Hill

V0=25 mls +L- (»L 4L truck
v V=20 m/s
End
. l kf.' dl The lowercase symbols represent the

car’s position, velocity, and
accleration. The uppercase symbols
represent the truck’s position,

j velocity, and acceleration.
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25. Atruckis stopped ata stoplight;"j_%é;if‘ ;
the light turns green, it accelera_t'es_:at‘:
2.5 m/s2. At the same instant, a car
passes the truck going 15 m/s. ‘Where
and when does the truck catch up Wlth
the car?

Begin

b

dg=0 vp=15m/s a=0

Dg=0 V=0 A=2.5m/s? dy=Dy=1?
v v v v v
car e———» B 3
v Vv v v v
truck o o+ o—r > > >
A
——e

The lowercase symbols represent the
car’s position, velocity, and
accleration. The uppercase symbols
represent the truck’s position,
velocity, and acceleration.
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'77-26.:—_ Artrudc is traveling at 18'm/é'id the north.
... The driver of a car, 500 m to the north

-and traveling south at 24 m/s, puts on the

= brakes and slows at 3.5 m/s?. Where do

~ they meet?
Begin
t 4 > +
Do=0 d0:~500 m
V=18 m/s a=+3.5m/s? vy=—24m/s
v Vv v

fruck e—=» o+—» o—

v v L4
o +—e +——e Car

a
—_—

The lowercase symbols represent the
car’s position, velocity, and
accleration. The uppercase symbols
represent the truck’s position,
velocity, and acceleration.

Physics: Principles and Problems

[ITE-MEIDIW f300ualD) 4q o 1yBuAdon






